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PART - A
ANTONYMS
Directions : '
Each item in this section consists of a sentence with an underlined word followed by
four words. Select the option that is opposite in meaning to the underlined word and
mark your response on your Answer Sheet accordingly. - ' '

4. Planets move in their orbits.

Kia e | \
- (@) capabigPRaEasREATRE TS S ey :

e of internal

cist§| in units of

" gz:mgxmpo:wndmd: c;lm i 6. People argue about ﬁrhy Venus is so
S |  much warmer than the Earth
| (a) significant: (@) friendlier
(b) trivial : | _ | (b) colder
(c) basic (c) wilder
(@ probable (d) heavier
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- 7. Scientists are concerned whether the 9. The Earth s climate sensitivity is

oceans and land biosphere will take up conventionally defined as the equili-
asmuchcarbonmthefutmeasthey ‘ bnumtemperatl.lremcreasecausedby'
presently do. a doubling of carbon dioxide. '

~(a) worried | | (a) imperviousness

- (b) indifferent (b) willingness

| (c) curious i (c) responsiveness

Professor Andrew Dessler created an mtmductory for freshmen and sophomores

R SRR
(a) .PRQS
(® QRPS
(c) SQRP
(@ PQRS
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12. 1 realize that solving the climate change problem ~ than solving will be much harder

_ P Q R )
the ozone depletion problem | : !
: - _
(@ PRQS
® QRPS
(©) SQRP

@ PQRS

R - S

(@ PQSR
() QPSR
© SQRP
(d PRSQ

KJU-F-GTA - B ' - B
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15. two people argue abomWhyVenug is so much warmer
; ; P :
 to the Sun, so it absorbs more solar energy. The second argues
that it’s because Venus has a thick, greenhouse-gas rich atmosphere
e :
than the Earth. The first argues that it’s because Venus is closer
: - S sk

‘(@ PSQR
- (b) QRES

the essay ‘Of Friendship’ by Francis Bacon celebrated the intimacy

; S
(@ PRQS '
(b) QRPS
(c) SRPQ
(d PQRS

| g R B - -F-GTA
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18. friends without which the world is make friends and a person wills to want true
s B e Q | |
it is miserable solitude that compels a person to '
; : ! R '
nothing other than a place of wilderness

S

(@ PRQS
® QRPS
(©) RQPS
(d PQRS

19. tgkesthel st t

5 Each item in this section s of a senten i 18erlined word/words followed
by four words. Select thelop
and mark your response on your Answer Sheet accordingly.

21. She got the divorce within no time. 22. He was known for hls gentle dis-
(a) detachment A
HRARES - (a) harmful
(b) brt g down ®) able
(c) annulment (c) cunning
(d) punishment , SRY (d) adjusting
KJU-F-GTA - B
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23. The harder we kick, the better the ball 27. He was too cunning for her.
bounces back.

i . (a) capable
a) recoils
(b) fit
(b) deflates
W (c) intelligent
(c) inflates
(d) dodgy
(d) ascends

_ 28: Thisndecisionlis,crucial for me.
24. I plan and_exééiife. ]
' (a) momentous

(a) desire
(b) natural
(b) debate
o (c) prmitive
(c) .accomplish . :
: (@) inept
(d) discard |
| : 29. The tacdia went into a fienzy about the
25. He listened to me with equanimity. cas:.
(a) carele#_sly ‘ ; - (a) silent 7
(b) excitedly, (b)..creatives
(c) patiently ' 4 (e)\ berserk
(d) half-heartedly : (d) wreng
26. The Whole thing was a futile exercise. 30. He has been yearning to go home.
(a) costly (a) declining
(b) pointless : (b) demanding
(c) indecisive (c) begging
(d) successful (d) hankering
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PREPOSITIONS
Directions : _ ¥ -
Each item in this section has a sentence with a missing preposition. Select the correct
preposition from the given options and mark your response on your Answer Sheet

accordingly. 7
31. Simulations of the 20th century by (b) in
climate models that exclude the (¢) by

observed increase. greenhouse (d) within
gases fail to simulate the increase i v o

* temperature over the second half of| a - She humble origin.
20th century. :

\

@ to | ere "_"_ the common
32. In extrer ‘ '

33. People

(c) at e lovely lake.
(d) on (a)
: : (b) on
_34. I have known her a long time. (c) beside
(3) since A - (d) within
~(b) for ' o .
b _ 40. He visits the needy to relieve them
; their sufferings and poverty.
(d) before ‘ (_—a) Bac ]
35. 1 accepted the offer certain (b) off
conditions. : (c) of
(a) on : (d) on

IUTI0IN Telegram : https://gc.me/defenceekakShé




SPOTTING ERRORS
Directions :

Each item in this section has a sentence with three underlined parts labelled as
(@), (b) and (c). Read each sentence to find out whether there is any error in any
underlined part and indicate your response on the Answer Sheet against the corresponding
letter i.e., (a) or (b) or (c). If you find no error, your reSponse should be indicated
as (d).

This bmldmg comprises of six houses, three parking lots and one basement.

(2) A e e
No error. VS s \\\

41.

420 E

48. 1prefer seafood than Mediterranean food. No error.

(@ (®) (© (d)
49, We were discussing about the issue. No error.
' (a) (®) © @
50, Dispose off  the garbage from the shelves.  No error.
() (b) (© (d)
9 B - KJU-F-GTA
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51. fmfafaa # @ fovm v o = e, 53. WRA & Wfau™ § F=98 79 & FTER,

eiele AT AT R 7 : - frafafes & & fR /R W &
FEE & TS WH & &9 ¥ afvia feRar waw
 (a) WESMAET 29
(b) FemAfim . _ 1. v w

2. ST |1

Sﬁq: 55. WiEt gesht w1 EgM fR deedia
=l g=adiy g
(b) ¥« 13K 2 :
: ORIEEIREELERIEL
Ak g % 5 | (c) B vt o
(@) 1,23K 3 - (d) radt d=aNig e
KJU-F-GTA - B 10
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PART - B

51. New Zealand is considered part of 53. According to Article 79 of the

52.

which one of the following island Constitution of India, which of the

groups ? _ following is/are described as a part of

SR Parliament of India ?

(a) Micronesia
_ 1. The House of the People

(b) Melanesia 2. The Council of States

(c) Polynesia

vas first launched

P 1O acCill '- LU §
of investments in irriga
field level

Select the correct ans : '
55. The call for Garibi Hatao was

code given below :
incorporated in
(a) 1 only
¥ (a) Fourth Five Year Plan
(®) 1 50d.2 only (b) Fifth Five Year Plan
(©) 2 and 3 only | (c) Sixth Five Year Plan
(d 1,2and 3 ! 6 - 4k (d) Seventh Five Year Plan

: : 11 B - KJU-F-GTA
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56. gt 19 gt 1§ gafva Hita ok 58. 2 71 fs TAl & o @ W s==

gt & A9 f@ T g w7 o W | Wﬁmﬁmﬁmﬁm
& I|W Ff : et § ?
R @“ (a) ®ER TR UG TH FA GRT
(vq@ Styw)  (YeaEdtg @ree) e
_A?haaiq;;ﬁaﬁ 1. gl g

(frwma) i (c) ¥ 3 Trgafir 3 U oW TR

(a)tm-mﬁmnaﬁizﬁm

6t
(b) T T TAT qH FE AEEA (c) ¥ weelt widdia TEE TR EW &
(c) TEHKI WS H qALHA ol T &
(d) eIl STERdT S@-WE w (d) =R sdwg & fl, s
yEgE T &1 AfEm g@m
KJU-F-GTA - B . 12
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56. Match List I with List II and select the
~correct answer using the code given
below the Lists : ;

List I List II
(Major (Five Year
Objective) Plan)

A. Faster and more 1. First
inclusive growth

B. Faster, more 2. Fifth

inclusive an

(@)
S ®
(©
@

57. Which one of the followi
Principles was inserted by t

(@ inimise inequa-
lities in income

(b) Equal justice and free legal aid

(c) Promotion of  co-operative
societies :

(d) Provision for early childhood
care

58. A common High Court for two or
~ more states can be established by

(a) a law passed by the Parliament

(b) an order of the Supreme Court of
India

- (c) an order of the President of India

(d) an amen the Constitution

whieh one of the following statements
ipal Singh is NOT correct ?

5 a member of the Consti-
embly

(b) He founded the Adivasi Maha
Sabha

(c) He was the captain of the first
Indian national hockey team

(d) He campaigned for a separate state
of Chhattisgarh

B - KJU-F-GTA
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o1 g & v F VPR WA w4, P 2 e 3w R e o

R? forew”’ (easil @ 3ur) weT ST R ?
() fAvs IR wam g (a) WA

(b) TH YA | ) =

(c) TH & & 9 © TS

(d) w@meea dar & A i fean
- ‘

"“ (d)

62.

g A T awq:mﬁ?::
@ (a) WgH IR IR
(b) <= . EOR
(c) Fonfeream (Fofaear) (o) WS
(@) Feffam (i) (d) ™
KJU-F-GTA - B 14
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'61. What is “‘Tikki Mausi’ in the context of '64. Which one of the following countries

Malnutrition ? - is called the ‘country of winds’ ?
(a) A specially packaged food item (@) India
(b) A mascot :

(b) China

(c) Name of a scheme

(ﬁ) Denmark

63. Which one of the followig cofiri scem¥Al-Bahr is a bilateral naval
' Nas Tosted the  AriEci ereise between India and
TSENTR, 2019 ?
| (a) United Arab Emirates
(a) Russia | ;
; (b) Iran
(b) China
(c) Kazakhstan (c) Saudi Arabia
(d) Kyrgyzstan (d) Oman
15 B — KJU-F-GTA
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67. wE gedt, frafafea # & fora ga &t 71. @fe (3) R wwor, Feafafea

e faems € 7 Y s Afm e € 2
(a) HFbaSll (TfTET) (a) FfRrw TrEgiom @Ee
(b) e== fm ' (b) Ffemm FEHe

(c) T (37) (c) Hfeww ez

@) fafeasda (d) Wfeam FTEfe

68. = 3 gu W, 2020 (JN I
a1 &, 2020) &1 AT 9

' »E': 3 irYEs tfie)
69. Sat 2020 #H, Y Bl B /N

70. MILAN, T& Sgueia =i o and
; 2020ﬁﬂﬁ%aﬁﬁﬁmwﬁ (b)?:ﬁ,?m?ﬁﬂﬁlimﬁﬁt
Frnfora femar wn o ? _ R |

(a) ¢ =W (c) T, 7 & el W R i e

- @) - e o

(c) TavmamoeT= W frok e B, 7 & 53 w6
(d) Tursht S ) Frok e @
KJU-F-GTA - B 16
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68. Which one of the following was

70. MILAN, a multilateral m

67. Koneru Humpy excels in which one

of the following sports ?
(a) Boxing

(b) Table Tennis

(c) Chess

(d) Billiards

official mascot of Khelo India

(b)
(c) Singapore Airlines
(d) Cathay Pacific

al exercise,

2020 was hosted by which one of the
following cities ?

(a) Port Blair
(b) Kochi

(c) Visakhapatnam
(d) Panaji

~ 71. Chalk and marble are different forms

of

(a) Calcium hydrogen carbonate
(b) Calcium carbonate

(c) Calcium acetate

(d) Sodium carbonate

72. The number of maximum electrons in

N Shell is

regarding the pressure
)y the liquid column at the
the beaker ?

: depends on the area
of the base of the beaker

_(b) The pressure depends on the

height of liquid column

(c) The pressurc does not depend on
the density of the liquid

(d) The pressure neithér depends on
the area of the base of the beaker
nor on the height of liquid column

B - -F-GTA '
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75, @ TR F WEHA (I Fe) & gey
¥, frafafea & & 9 a1 =9 98 =&
?7?

- (a) = FE A ¥ B PR g §
(b) =t TF T | TR R Tl €
(c) =ft a8 FoTa ¥ B TR qEA

§ , g

79. frafoafaa # @ @ @1 wrdw o=, @

sgan sifye 3T & wrT s
I AT AE AT ?

(a) EUTE eI

78.

KJU-F-GTA - B
Join Telegram : https: //t me/defenceekaksha

82. mmah%msﬁﬂah(m)m&m

&9 § Fei g (Frefa 6) o 2

(@) $R

(b) =fror srhiE
(c) ST kT
(d) wRa




75. Which of the following statements is 79. Which one of the following Indian

~ NOT correct regarding the travel of states does NOT share international
sound waves ? - : - border with two or more countries ?
(a) Sound waves can travel through (a) Arunachal Pradesh
. water
* (b) Assam
(b) Sound waves can travel through
air ; ' (c) Mizoram
(c) Sound waves can travel through (d) Tripura

77.

(@ Rio de Janeiro
82. Where did Gandhiji initially forge the

78. ﬁsel;:;el;a_rn Sagara Dam/Reservoir is techniques of Satya g D
(a) river Krishna ' ' (2) England
(b) river Tungabhadra (b) South Africa
(c) river Godavari (c) North Africa

(d) river Kavery (d) India

: 19 B - KJU-F-GTA
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83. S & TE AN & WA, WRa & 86. Tt Ml gdor A awar frsar R aon

AT A GT ? HiHE U fH T EEY
(a) wiE o gk oy
(b) R = 2f
(b) =ie femferam (¢) R.=3f
(¢) wité fem i

P . T o $iET 7@ T
(@), =% e A AT ST A
AIOT & BIaT R 7

8s. 9wamﬁmmmm%,ﬁaﬁwaﬁ

3 et o 1w oh 2

WY 1 TFgH WIH A & forg weeht
B, TR F9 & frow &1 v famr 2
: (a) @ @ T
(b) 1825 by %
(c) 1848 | (c) ITEHF =g
(d) 1861 (d) TE. TR
KJU-F-GTA -
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83. Who was the Viceroy of India at the
time of Gandhiji’s Dandi march ?

(a) Lord Irwin

(b) Lord Linlithgow

r : (c) Lord Reading

(d) Lord Willingdon

were passenger trains
England ?

(a) 1823

(b) 1825
(c) 1848

(d) 1861

‘86. The correct relation between the radius

-of curvature R and focal length f of a
spherical mirror is '

@ R=f
®) R =2f
(c) R =3f

(d R =4

89. Name the scientist who first used a

glass prism to obtain the spectrum of
sunlight

(a) C. V. Raman
(b) Lord Rayleigh
(c) Isaac Newton

(d) S. Chandrasekhar

Join Telegram : http_s:/zllt.me/defenceeka‘t@ﬁ'éu'mm |




9oqa;mﬂfa’rﬁﬁmﬁﬁﬁ(%&ﬁﬁa)wh 93%@%@%&1&3

10 % wfafer 30 fet & foq ot &7 C,H,Cl &, ﬁﬁm%amﬁshm@%
R 5kW R () &1 SuERr a=ar g7

?, ® i =@ (sm) & forg @ 6

EX I R ®) 8

[fear mar & &% wfd kw.h o= & w9R

(@) =24 e

(@) T 600 ' ik

i Bl e ' ). e Rt e sfirerer,
(C) I 1,2 S B CICIGICE S

91. F=IhE &

(d) = sht
magﬁr,ﬁnﬁ-rﬁ‘aaﬁ
92, fpafafas & & o7 w1 =89 § RER,EEAT & I1T & ST Bt © ?
L5 , (a) ¥ W R ekt A e
(a) afrfiecpei e &1 @ &
T B o =t R
(9 9 o sy f © ¥ g ok R & den
(c) ¥z forpm =1 @& srewT 99 R * |
(d) IFrEe #, WAH HeT AT AT (d) WL, We sk wgEEt @
T A AT A FST BT R T F
KJU-F-GTA -
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90. The cost of energy to operate an

9.

industrial refrigerator that consumes
5 kW power working 10 hours per day
for 30 days will be

(Given that the charge per kW.h of

energy = ¥ 4)
(a) ¥ 600

(b) ¥ 6,000

(c) ¥ 1,200

(b) Diamond is a good conductor of

electricity

(c) Graphite is a good conductor of
electricity

(d) In graphite, each carbon atom is

linked to three other carbon atoms

93. How many covalent bonds are present

in a Chloropropane molecule having
molecular formula, C,;H,Cl?

@ 6
(b) 8
) 9
(d 10

96. Atomic mass of an element is equal to

the sum of number of

(a) electrons and_protons oqu

(b) protons and neutrons only

(c) electrons and neutrons only

(d) electrons, protons and neutrons

B - KJU-F-GTA
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97, frfifes % ¥ B ¥ TH = W 100 RumpE (@) w o wRefE

T, 6 % 99K § v f (Ghamitfes zaei) & wwEl & =R F,

S ? 5 oo 3 & A 1 o R 7
% (a) T ‘s (Pt siferea

g & frq 3 shohemEl ¥ a
: ; greafs frar (3@ frn) =
T .

i €

(c) wfeam (b) Rt

% ¥ framy s

bl SS9 Bl

98.

. Fraforfaa 3§ & 9 &1 vt wfidh o
(aeh) 77 e 0w A (o
T YET Afte wEel ST A 9

aftfq aaT & 7 TRT 1945 &, eh g AEX (FAEeE
: AN 91R) el W gEaea foram
(a) wES T (ST ) a1 ? ; :
(b) T wwer (Rraes i) - ORR
-. g (b) oA WHEH
(AT (o () & Wit e
(@) T I (frs wiftf) (@) affa wem
KJU-F-GTA - B
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97. Which one of the following element’s 100. Which one of the following statements

isotope is used in the treatment of is correct about effects of antibiotics on

cancer ? \ viruses ? ‘

(2) Uranium | (a) Viruses are “non-living” entities
but it can interact with antibiotics

- (b) Cobalt e e .
(b) Taking antibiotics cures viral

infections

(c¢) Sodium

describes the practice of glowifig | | - |
or more crops simultanegusly 4 : atlonsC] ter was signed

E RSPy ” A
(it et ok e Nations in 1945 at the

(2) Crop rotation ~ (a) Hague Conference

(b) Mixed cropping () London Conference
(c) Intercropping (c) San Francisco Confexeﬁce
(d) Mixed farming _ ~ (d) Berlin Conference

-F-GTA
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103, WRA ¥ SR @ T Y- et 3 (c) e R

sftr-wr el  aier @ 7
(@) 6%

it ) 9k ik, 7 107. 5 ¥ g B st st fm
4 & ‘ St g & for faranfia @ @ 7

(d) SR a7

“(c) 15,;411:
@ 21t ; (a) 80— 140 f&m

104, KA # U

105. @1 wwIf

(a) 10 s
(b) 20w ar st

(o) 25w a1 sftrs , ﬁ:g(m)t?
(d) 3ou1%maw‘ar&az (a) e T

106. Prfafea # ¥ @ @ =, wwid ,
TERFR 6 arT TE ¥ ? ki
(@ dfed g b

i on s lfelegram : https:ﬁt.me/defenceekaksha
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103. Land Revenue Records maintained in (c) Agulhas current
India have categorized land-use into 3 :
(d) California current

(a) 6 categories

() % caibunnics 107. The duration of monsoon in India
: extends for an average period of

(c) 15 categories

(a) 80—140 days

(ci) 21 categories :

10 da_\

(b) 20 per cent or more

. Which one of the following is a cold
local wind ?

(c) 25 per cent or mor

(d) 30 per cent or more

(a) Santa Ana
106. Which one of the following is NOT a - :
current of Pacific Ocean ? (b) Chinook
(a) Oyashio current (¢) Mistral
('.b)r Alaska current (d) Loo
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10, ST 3 SR T (e WEEA) ¥ 112, 99 1857 % g ¥ a) ¥, e

foaearht sdew (WATE Yedde) W F A S W TR ?

it (wera) 41 91 ? ‘ (a)u'atmaﬁ,wmﬁammgmﬂ

(a) Tafey dmm framt 6 o @ S TRT EgEIgEs e 3R
& gafe F=A & forg swifeRi 3 it Fratfor feram mran wa fagie o1
wh o e R T (b) = fde ¥ W B (IW) IR

@)ﬂ#(m)ﬁmﬁ%@aqgﬁ ﬂmﬁﬁmaﬂtwﬁwmﬁtﬁ_

man'-nﬁ
| & o i ok v
() a [(Fwm A fag fsm, swew

111. TSHEA &7

(@) i = . : 5 Al frarer (s Rk
W fear mn @ @ik \ ( )
e s (W ! Q A # FEERd
Ehﬁaﬁmwm A e & & feem, 1004 #,

(b) RSt fr s N w9 A ' rif B T AT (s
o et 3 forg ot stfirra wrea wnfig &t ot ?

e
HSt a1 |
(HisT) forq o A

(d) Traffa R 7 framt =t znfia
= ¥ o som W (@@ ® () 5T
) wfir | (@ . z&..m
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110. What was the consequence of Perma-

nent Settlement on rural society in
Bengal ?

(a) The zamindars invested capital
and enterprise to improve agricul-
ture along lines of British yeoman
farmers

(®)
(©)

@

(b) The land of the Paharias cultivated
exclusively for paddy

(c) The British territory marked for
their military camp

(d) The land earmarked for locating
settled agriculturists

A group of rich peasants kg '.u.“

112. Which one of the following statements

about the Revolt of 1857 is correct ?

(a) It was a Revolt carefully organised
and planned by the Rajas Nawabs
and Talugdars

(b) Rumours and prophecies did not
play any role in its outbreak and
spread

e following was
ciple ?

organised, in 1904, a secret society
of revolutionaries named. Abhinav
Bharat ?

(a) Khudiram Bose

(b) Shyamji Krishna Verma

(c) Har Dayal

(d) V D Savarkar

Join Telegram : https:/7t. me/defenceekadksk & Fc™




115. 78 figa 5 @ e & f@ =

116.

117.

dfem @ AR o ge (Tl
s W) @@ (W) wrddt #
e o =g, weedlt &R
e ¥ ¥ R oo 3 SeR R
[T ar ?

(a) ¥Ra &R Afufwam, 1935

u8. ﬁwﬁﬁaﬁ%ﬁﬁﬂﬁﬁwwﬁsﬂ

(wwm)maﬁrw

ot Wt

(a) T AT oA
(b) ¥ 7 foey
(c) T '
(d) Fad I

120. Frafofea & & A9 & v A, TR/
| WErETR O Few g (i) we

27

(a) @it
(b) ST
(c) ISR
(@) smfE
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115. The principle that the framing ' of

the new Constitution for independent

~ India should be primarily (though not

118. Bagalihar, Dulhastl and Salal hydro

power projects have been developed on
which of the following rivers ?

solely) the responsibility of Indians

themselves, was for the first time (a) Chenab and Jhelum .

DA i (b) Chenab and Indus -
(2) Government of India Act, 1935 (©) Ravi
| (d) Chenabonly

(b) August Offer c;f’\ﬁcemy Linlith@; u"

(c) Crip Reservx.a
(d) phere Reserve
UNESCO in
116. Wthh } L2
major e ted Biosphere
erves in India
(a) Acid in world
here RﬁSC! ves
(b) Gro |
; using the
(c)
@ D
117. Which one of the followi

lies in between Caspian
Sea ?

120. Which one of the following countries

(a) Caucasus does NOT have direct access to the
. sea/ocean ? -
(b) Carpathians (@) Syria
)) Jordan
(c) Apennine ®) :
(c) Azerbaijan
(d) Elburz (d) Armenia
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122.

123.

o1 e A w , s ag e 124, Pl § @ 9 W ww w@ vl

oTg S e € 2 | 27
(2) Yafifram (a) 3 defy (S A I & TH
iy ot | ot A ¢ o
e (b) MR | I Ieafed EC]
(C) " : MeR, wEG FERE, FEEdiis
o e o R (7 )
ﬁmuﬁ%ﬁkmmﬁgﬁ e & sroufed
qqr 12V - R , o foor ST
ety —
O R 2 2
5 A o
a9 &HAT
3 aqqq;
stai 1=
EL
R'GI’FFI
(a) 120 ¢
(b) 240 Q
(c) 60 Q
(d) 100 Q (a@a’lﬁn)
frfofe & & = &1 126. e # & o & e e
TP, Y ¥ 7 fird Bt & 7
e | (a) e (rfered)
(b) a’fzm (Watt-hr) n ( ) -

(c) ﬂE‘T-‘ﬁE? (Newton-metre)

FicprgaT (@Eas
(d) fo.an.-Hiex/q%ve®  (kg-metre/ ) ( ) ;
sec?) | (d) eI
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' 121. In an incandescent electric bulb, the 124. Which one of the following statements
filament of the bulb is made up of is NOT correct ?
which metal ?. :

(3) Alumini (a) Biomass is a renewable source of
uminium

energy
o ' (b) Gobar gas is produced when cow-
(¢) Tungsten ‘ ‘ dung, crop residues, vegetable
waste and sewage are allowed to
(d) Silver decompose in the absence of

(@) 12

(b) 240
(c) 60 Q

(d 100 Q
6. Which one of the following plant
123. Which one of the following is NOT tissues has dead cells ?
the unit of energy ? :

(a) Epidermis
(a) Joule
' (b) Watthr - Drmiyres
(c) Newton-metre : (¢) Collenchyma
(d) kg-metre/sec? ‘ (d) Sclerenchyma
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127.

128.

iz@. ‘

(@ 15Q

w\'ﬁr(mﬁ%ﬂ),ﬁmﬁiﬁmﬁ%ﬁm 131, w9 3 @ 9g W e w® wfafes
Fadft qar S ® ? ST B, T T © ?
(a) %5 (AR) . (a) e
(b) =t (A1)
(c) ¥ ()
(d) TR

o (d) wmsRa
amwm(mﬂ)ﬁ@ﬁ .

lso.qeﬁmthammrm D‘* G

- e W o g ) @) mﬁmaﬁgamﬁmﬁm
Heg o Sher AT AR o S, e T & s
:)mﬂﬁm (b) waft TG Ioed aat €

- & f (c) ety o e o €
(€ TRTW (@ o ag h ge F I ()
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127. Cartilage is NOT found in
(@) larynx
(b) nose
(c) ear
(d) urinary bladder
128. Two planets orbit the Sun in circular

orbits, with their radius of orbit as
RandR2-4R.Rat|oof B

d 15Q

130. Light of uniform intens
perpendicularly on a to
surface. If the area of ;
halved, the radiation fomeon:twﬂl

~ become

(a) double
(b) half

(c) four times
(d) one fourth

131. The part of the human eye on which
the image is formed is

(a) pupil |
(b) cornea

(c) retina

(d) iris

(a) Sound travels at a speed slower
than the speed of light

(b) Sound waves are transverse waves |

(c) Sound waves are longitudinal
waves

(d) Sound travels faster in moist air
than in dry air

- B B - KJU-F-GTA
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134, 5 g (o ) A T w138, P 3 W ¥ waw & fifo

it &, afiay # g A : $ qortd wed B (FgaE) B
2
EiGil
e QH: : (a) G&R T (ATHHIAA)
T (b) T (FHE)
(c) WEET AT o) A
(d):@%mm%qﬁaﬁa@ﬁ'@h (@)t~
(a)
(b) 9
(@) 3§
(d) 3
: _ , ST &
136. frrafafaa & =
¥ FH oW W w

(d) == &t # srfasmor ( itea Wik Gie & wwa § g we
- N (o) foams Zan @ | wefirht #, 7@

131_.%%12#;3“" - e gl ¥ oae A REE W F

ki : forq fiar 2, w weard € 7

(a) AT (a) A

(b) =1 6 =l (b) ot srrafieh qerEdH

(c) S srcafies A & et  (c) wehoiR

(d) = ¥ R Fhe A & fi (d) =afaerm
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134. When the short circuit condition  138. Which one of the following types

occurs, the current in the circuit of radiations has the smallest wave-
length ?

(a) becomes zero
(a) Microwaves

(b) remains constant
(b) Infra-red

(c) increases substantially
(d) keeps on changing randomly

(c) Visible light
(d) X-rays

135. Wthh one of the followmg is NO A
component of human male repie

> following is the
in iogas?

137. Which one of the followi -
cause of depletion in g and sunset. The phenomenon in optics
‘which is responsible for this appear-

W) ion ance of the Sun is

(b) Loss of fométs

(a) Reflection
= Exct:rSSivc I B s (b) Total internal reflection
wa . .
Scatterin
(d) Construction of large scale con- (¢) Sca g
S Wi (d) Interference
37 | B — KJU-F-GTA
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142. 0% @ H gEar +2.0 TR R | 145%&@«@5«&%&%’@:

frffm iy Fm S IR | WET ¥ TR W I A G SR, @

ET L E Il & agem o ael AR Frefataa
(a) ¥ ¥@ae & R SEh wEE g ﬁ%ﬂqmﬁm%? |
0.5 Hrex 2 (2) e — et — fre
(b) ¥ aa B SR e W g (b) e — wreRr — e
2-0 #iex ? (c) e — e — e
(c)ﬁaaaataﬂtamﬁrﬁm § '
: : : , \
| (d)ﬁfr T G W R 7
143, T 7C
e o
AT R,
IuFRT
F W .
i ik e
(a) wTEA
(b)
(c) &<t a9
(d) o=
144, F1R gohe, Aifean Faiqe
: . 148, fFreafofaa & & =7 ¥ g oo 6
ﬁ,ﬁazaﬁ—m%aqaﬁﬁrwt R L
(a) AW 5,10 7R 2 : @ WW :
(b) EW: 10,235 (b) TESEIRE I
(c) M 5,2 3K 10 : |  (c) e s
(d) FA: 2, 53R 10 _ (d) wenla s
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142. A lens has a power of +2:0 Dioptre. 145. Which one of the following is the

Which one of the following statements correct sequence of change in colours
about the lens is true ? when a turmeric stain on white clothes

1sscrubbedbysoapandthenwashed
(a) The lens is concave and has a ~with water ?

focal length of 0-5 metre 2 9% _
(a) Yellow — pink — blue

(b) Yellow —reddish brown — yellow
(¢) Yellow —reddish brown — blue

(d) Thegéns is concave and has ' he following statements

(b) Thelensisoonvexandﬁasafocal
length of 2-0 metre

(c) The lens is convex and has a fo
length of 0-5 metre

143. At nez | ‘ ¥). Batl gani¢ compounds
shows fthe Ya-¥e W 4 i

decom 0§ |
of sodi

(@)
(b) Hydrogerl
(c) Wate

(d) Oxygen

144. Number of molecules of “

crystallization in coppe: phate, o RV 6
sodium carbonate and Gypsum are 148. Which one of the following was the
' first mineral acid discovered ?

(a) Sulphuric acid

(b) Hydrochloric aci_d

(¢) 5, 2 and 10 respectively (¢) Nitric acid

(a) 5, 10 and 2 respectively

(b) 10, 2 and 5 respectively

(d) 2, 5 and 10 respectively ~(d) Phosphoric acid’

39 B - KJU-F-GTA
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149, Tford wwfes (FAEH) &1 IFqFdAH
1-46 TAT Hew w1 IqadTw 1.77 |
afg Féw # vy H T v, R K
dem ¥ www A AW v, R A

P 3 ¥ W 0 W @

®? |
@ vg>v,

®) vi>vg
© v=v

q

@ v [
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149. The refractive index of fused quartz is
1-46 and that of sapphire is 1-77. If v,
is the swedofhghtmquartzandv

‘ is the speed of light in sapphire, then
- which one of the following relations is

correct ?
@ vg>vg

(b) v;> vq-

(c) Vs - vq

lSG.Incaseofaconcavemumr,lfanobject,‘f
. is kept between principal focus F and
- pole P of the mirror, then which one

of the following statements about the
image is NOT correct ?

(a) The image winbeyimml .

_(b)Thelmasemllbeenlusedor
magnified -
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